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Quadratic Equations: Area&
Square of a Number Application




Area Application Problems

1. Thof arectangle is&}nﬁlts&idthl Th
the rectangle 1@quare inches. Find the dimensions of the
rectangle.




: The of arectangle i imesﬁts@_{idtlj. Th areal{o
the rectangle iquare inches. Find the dimensions of

the rectangle.







2. The length of a rectangle is twice the width. The area is
50 square inches. Find the dimensions of the rectangle.



Square of a number 2
. A =1
1.more tha the[square of a number |s the same @
times fhe number\ Find the number.
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Find the number.
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